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V&V Scientist Joy Nichols
V&V Date (YYYY-MM-DD) | 2013.04.15
V&V Edition 1

V&V Disposition and Status | OK

V&V Charge Time 161.137

Comments

A spatial region of the original bias map for CCD = 6 suffered from
anomalously high data values. Pixels in the event data that were
bias-corrected by one of the original affected bias pixels may have an
apparent energy shift. While the change in energy is expected to be
small (720 eV), it depends on many parameters that have not yet been
fully explored for this bias anomaly. The bias map for CCD = 6 has been
reconstructed for this processing to remove this anomaly using scaled
data from a comparable bias map from another observation. The pixels
affected by the anomaly are bounded by sky coords:
(204.04352,-34.32706) , (204.04296 ,-34.32451) , (203.96717,-34.33580) , (203.9
6772,-34.33836) .

This region crosses the spectral arms.



seq_num| 700845 Sequence number

obs id |4759 Observation id

fitle DISSECTING THE ENVIRONMENT OF MCG--6-3O-1EProposal

WITH THE HETGS

observer| Prof Claude Canizares Principal investigator

object |MCG--6-30-15 Source name

dtycycle |0 &#160

cycle p ev_ents from which exps?
Prim/Second/Both

ra_targ | 203.97375 Observer's specified target RA
[deq]

dec_targ| -34.295833 Observer's specified target Dec
[deg]

ra_nom | 203.97145424446 Nominal RA [deq]

dec_nom| -34.294683684943 Nominal Dec [deg]

roll nom|280.15533747333 Nominal Roll [deg]

revision |5 Processing version of data

ontime |161137.23913631 Sum of GTlIs [s]

livetime [158534.73296004 Livetime [s]

ontime4 | 161132.19815606 Sum of GTls [s]

ontime5 | 161137.19809631 Sum of GTlIs [s]

ontime6 | 161132.07505593 Sum of GTls [s]

ontime7 |161137.23913631 Sum of GTlIs [s]

ontime8 | 161137.1160163 Sum of GTls [s]

ontime9 | 161134.53395626 Sum of GTls [s]

[2events | 1673308 Number of level 2 events

o = target




